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1. Answer the following questions : 1x3=3
TrafoRaari ST Jea—
(a) Who was the original propounder of the
science of life?

A TIAITETS: T

(b) What is the time period of Caraka?
e Rfoam: #:0

(c) How many Sthanas are there in the Caraka-
sarmhita?

TaueaET Hfq s qfw?
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2. Define 7T (quality) as you find in the Caraka-

samhita. ; 2
TEURAIER PR i
3. Answer any three of the following : 5%x3=15

FTIEY, T T —
(a) Mention the names of R 5Ts.
Rtz amf foed)

(b) Define &4 (matter) as you find in the
Caraka-samhita.

THURATER SeAGH0T Sa 19 |
(c) Discuss M and 3319 Siddhanta (generic

concomitance and variant factor) as per
your text.

srdfiquratean ama-fREn: R e
(d) Mention the qualities of aTd. '

ACTHHSE: Fd: |

4. Explain with reference to the context any two of
the following : 10%2=20

AT, TS TR AT —
(a) Teamfed §@ gamgwe feafem)
T 9 7 A § 9= ||
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(b) e T AT FERAE Fedd |
¥ 7 e 28 WA 3 Rl

(c) WEHTAT IRR T TEAfoRyEq |

Ffeasl GRS 99 gfafsa |l
5. Fill in the blanks : 1x4=4

Femeamar= [Ea—

(a) The computer language can be classified
into :
e u ey e |

(b) RAM stands for b T
RAM ¥

(c) Three fields where computer technology is
being used are ; , and

-G G T | a{%ﬂﬂf@r
|

(d) ROM stands for
ROM g% ____

6. Answer the following questions : 2x3=6
ST FEAT: T —

(a) Why is memory required in the computer?

—_—

Explain.
s S (IR Ef) SR yafq?
fag=aam |

20A/742 ( Turn Over )



(4)

(b) Give three examples of output and input
devices.

AT - FrTAeRorT: SeTetord JeF |

(c) Write a short note on mouse of the

computer.
- (WY, 3) uE i
feoqofy foeram |

7. Answer any one of the following : 10

Ffeady That: FATaTT—

(a) Discuss the functioning of Laser printer.
TEEE (PR fier s sEwf
AT =T |

(b) What do you mean by computer software?

Describe three types of software and their
usages.

TR -TReIR—3AT WA, & Sa?
FRER-TREIR 306 fmm: v ==

* ok %k
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